
To Multiply Fractions, multiple the numerator (top number) by the other numerator (top number) and the
denominator (bottom number) by the other denominator (bottom number)
• If one of the fractions is a mixed number (e.g., 1 1/2), change it first to a fraction (e.g., 1 % = 3/2)

To Divide Fractions, multiple by the inverse of other fraction. For example 1/2 + 2/3 would be solved by
multiplying by the inverse of 2/3
• If one of the fractions is a mixed number (e.g., 1 1/2), change it first to a fraction (e.g., 1 % = 3/2)

?-
1. 2/3 X 1/5 = 2 X 1 = ~ YES NO

3 X 5 -.J

2. 3/4 X 7/12= 3 X 7 =:1. YES NO
4X 12 \0

3. 3/8 of 4/9= 3 X 4 = 3Y3 YES NO
8X9

4. 711040112=7X 2 = ~/5YES NO
10X 1

5. 5/12 .;.5/8= 5 X 8 - 4 YES NO- -
12X5 5

6. 9/20 .;.4/15= 9 X 15 = I-¥-b YES NO
20X4

7. 1 1/3 X 2 1/2 = 4 X 5 = 3 YB YES NO
3X2

8. 5 Y4 X 3 1/7= 21 X 22 = '~~;l.YES NO
41<7

16. Farmer Brown can harvest 2 1/3 acres
of corn in 1 day. How many acres of
corn can he harvest in 10 1/2 days?

acres
1 day = 2 1/3 acres
10112 days = __ acres
10 1/2 X 2 1/3 = 21 X 7 = 21'1/).. YES NO

2X3

9. 1 7/8 X 7/10= 15 X 7 =5 Y1 YES NO
8X 10

10. 4112401415=9X5 =2?1gYES NO
2X9

11. 2 5/8 .;.3 3/4= 21 X 4 = ~I YES NO
8 X 15 30

12. 73/10.;. 5= 73 X 1 = I ''So YES NO
10X 5

13. 12 + 3 1/2 =12X "1..=~ 811 YES NO
#~X-,

14. 61/4.;. 5/6= 25 X 6 = 7 YB YES NO
4X5

15. 2/3 X 2/3 X 2/3= 2 x 2 X 2 =~ YES NO
3X3X3 ).,1

17. Farner Brown can harvest 2 1/3 acres of
corn in 1 day. How many days will it
take him to harvest 10 1/2 acres of
corn? days

2113 acres = 1 day
10112 acres = days
101/2.;. 2113 = 21 X 3 = ~ Y2.-YES NO

2X7

Yes / No Strategies


